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Editor - F:\LELET\iud-Work\Data-Science-Training-Acadgid Pythonproject1\ACD_MDS V2 Session_15_Project_1.py. = 5
[ | untitedo.py () | ACD_MDS_V2 Session_15_Project_1py ) %
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50 df .columns
61

62 df=df[["Country’, 'Indicator_ID', 'Publication_Status’, 'Year', 'WHO_Region’, Horld Bank inco_
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56 column_array=np. array(df['1#0_Region'].values)
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70 df_subset=df.loc[[11,24,37],:]
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74 df_subset2=df..drop([5,12,23,56])
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read_csv("https: //raw. githubusercontent. com/bens19/Datalirangling/master/Data/users.
82 sessions=pd.read_csv('https://raw. githubusercontent. con/bens19/Datarangl ing/master/Data/ ses
83 products=pd. read_csv('https://raw. githubusercontent. con/bens19/Datatirangling/master /Data/pro
84 transactions=pd.read_csv('https://raw.githubusercontent. con/bens19/Datatirangling/master/Data
£

55 users. head()

57 sessions. head()

55 transactions. head()
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92 leftjoin_Trans_users=pd.merge(left=transactions, right=users,how="left",o
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47 curterdnin Trans usercand meroelleftatransactions
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Name Type Size Value ~
df DataFrame (4656, 12) Column names: Country, Indicator_ID..
dfl DataFrame (117208, 21) Column names: STATION, STATION_NAME..
df_sorted_1 DataFrame (4656, 12) Column names: Indicator_ID, Publica.
df_sorted_2 DataFrame (4656, 12) Column names: Indicator_ID, Publica.
df_subset DataFrame (3, 12) Column names: Country, Indicator_ID..
df_subset2 DataFrame (4652, 12) Column names: Country, Indicator_ID..
innerjoin_Trans_users DataFrame (7, 18) Column names: TransactionID, Transa..
o B Column names: UserID, ProductID,
Join_product_transactions DataFrame (1@, 4) Product, Quantity .
IPython console
03| console A B L
T User 1o, ProauetID S
11t # 15, Determine how much quantity of each product was purchased by each user
_1.t join_product_transactions-pd.merge(transactions,products, on="ProductIn’) . loc[:
("UserID’, ProductID’, 'Product’,Quantity’)]
user_products_data-pd.merge (users, join_product_transactions,on="serID").loc[:,
("User’, "Product”, 'Quantity’)]
users_products_sggregate-pd. pivot_table(user_products_data,values="Quantity’, index="ser
*columns="product ", aggfunc="sun’)
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